Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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% _Max. Marks: 80

Obtain the Fourier expansion
TC ( 1)n+l
4 Z “(2n-1) :

Find the Fourier serie _expansion for the function ﬂx)“: (t — x)* in the interval (0, 27).

4 (05 Marks)

(05 Marks)

,,,,,,

x 0‘;,‘ 3| 2n3| = |4n/3 | 5?%‘"/3 2
)| 141 19 | 1.7 5112 (1.0
(06 Marks)
OR . ’ . ,
Expand f(x) = ™ as a Fourier series in the interval (—Tc, ). o, g (05 Marks)
Find the half range Fourier'sine series of
(05 Marks)

Fx) = X .in O<x<l
2-x in d<x<?2

The following taBlg&ves the variation ofa periodic current A over aperiod T.
t(sec) | T/6 | T/3 «T/ 2T/3 [ 5T/6 | T
A (amp) | 1.3 | 1.05 |*1,3 | -0.88 | -0.25,
Show thmat’there is a constant pa"'* 0f 0.75 amp in the current A, and obtain the amplitude of

(06 Marks)
f( )= 1- |x| (for lxl <1 : S
arks
0% “for |x|>1 ‘
Find the ztransform of {311 - 4sm(%:£)] : (05 Marks)
5 . 4 5

Find inverse z-transform of M (06 Marks)

ooooo z-1)(5z+2)

OR
Find the Fourier cosme transform of e™ (05 Marks)

Find the Fourier smc ‘transform of the functlon
x for 0O<x<l

f(x)=4a-x for l<x<a . (05 Marks)

for Xx>a
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3% with u,=0=u, by z-transform

Solve the difference equation u,,+4u,,, +3u, =
g (06 Marks)

method.

»»»»»»

x |1]2]|3[4]5 L jgs,
y |2[5]3]|8]7

05 Ma rks)

By the method of least squares,
form y=ax +b.

x | 1]2]3
|y | 14]27 40

,,,,,

4 decimal places by: Regﬁla Falsi Method. ‘ (06 Marks)

OR"
The equations of regressxon lines of two vari les x and y are given by y = 0.516x + 33.73
and x = 0 512y +32.52, find X,  and coefﬁ01ent of correlation. (05 Marks)

Y~ (05 Marks)
of the equatlon e = 3x correct to

RAN(;PLDRE 560 037

data:
x | 40 50 60
y 1*84 204 226

(05 Marks)
For the following data, fmd ‘X as a polynomlal in y using the inverse Lagrange’s
mterpolatlon formula: \ ;

x 2110117

~ % ly 113 |&4%
e fin B (05 Marks)
(06 Marks)

204, /60) = 226, f(70) = 250, f(80) = 276, find f(38) using

Newton’s forward 1nterpolat10n formula. (05 Marks)
If (1) = 4, f(3) = 32, f(4) = 55, f(6) = 119, find the interpolating polynomial by Newton’s
divided dlfferenc “formula. (05 Marks)

,,,,, o'passes through the points given by the following table:
x [1[I%] 2 |25]3[35)] 4
y [2124]27]28]3]26]2.1
Using ' Weddle s rule, estimate the area bounded by the curve x-axis and the lines x = 1 and
x=4. (06 Marks)
20f3
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Module-5
Using Green’s theorem, evaluate 'f (2x? — yH)dx+ (x”
C .

o

+y*)dy, where ‘¢’ is the triangle

formed by the lines x=0,y=0and x+y=1 (05 Marks)
Using Stoke’s theorem evaluate .ff dr, where
= e
f=(y+z-2x)i+(z+x-2y)j+(x+y—22)k
(05 Marks)

(06 Marks)

Evaluate H F.Ads where”
S

CMRIT i%EﬁARV (05 Marks)
BANGALORE - 560 037
+12xy]dx , with y(0) = 0 and y(1) = -1 can

x=0,x=1,y=0,y=¥,

4 ;
Find the curves on which the functional I[(y')?

A

be extremised. (05 Marks)
Show that the geodesics in a plane is straight line. (06 Marks)

30f3




